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Que 1 :-

)
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Q. No. 1 is compulsory.
Attempt any four questions from remaining.

Assume suitable dimension wherever
(4) Use drawing sheet only.

(a)
ii)

Figurc shows the F.V. and L.H.S.V. D

(4 fl-iours)

necessary.

[Total Marks : 100

raw the following to the scale :-
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Que 2 :-

(b)
if)

iii)

(@)
i)
ii)
iii)

(b)
1)

i) F.V.and L.H.S.V. 03
Complete T. V. 05
iii) Auxiliary view from the direction of arrow ‘X’ ' 06
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Define the term with suitable sketches 06
Tolerance Zone
Upper and Lower deviation
Allowances '

Figure shows Simple Eccentric. Draw the following :-

Upper Strap :

Sectional Front View 06
Right Hand Side View 03
Top View 03
Sheave :

Front View 04
Left Hand Side View - 04
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Que 3 :- Figure shows an assembly of Milling Machine Tail Stock. Draw the
following :-
(a) Body:
i) Sectional F.V. 04
ii) Right hand side view 03
(b) Hand Wheel :
i) Upper half sectional F. V. 03
if) Left hand side view 02
(c¢) Center: ;
i) Front view 02
ii) Left hand side view 02
(d) Screw (part no. 4) :
i) Front view 02
ii) Right hand side view 02
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L o1 4 1 ; gma Case h?rdenod :
150 150 alloy steel
4 2 3 Hand wheel Cast stecl |
4 Screw MS 1
Milling machine fail-stock 5 Screw MS 11
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Que 4:- (a) A Vertical cone of diameter 100mm. and axis 100mm. is penetrated by a 08
vertical square prism, having edges of base 45mm. The axis of the square
prism is 10mm. away from the axis of the cone and plane containing both
the axis is perpendicular to VP. A rectangular face of the square prism
makes 30°. with VP. Draw front view and top view showing curves of
interscction.
A Square prism, side of base SOmm and height 70mm is resting on HP. on 12

(b)

its base with one of edges/sides of base inclined 30° to VP. The above
prism is penetrated by horizontal triangular prism, side of base SOmm and
length 100mm. the axis of triangular prism is parallel to VP. and Smm in
front of the axis of square prism. A rectangular face of triangular prism is
parallel to VP. and nearer to the observer. Draw the projection and show
the linc of intersection.
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Que 5 :- Figure show the details of “BEARING”. Assemble the components and
draw the following views:
i) Sectional Front View along A-B 12
ii) Right Hand Side View 08
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(5) SET SCREW
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and draw the following views:
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i) Sectional Front View along Y-Y
ii) Sectional Top View along X-X 10
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: o t  mpg [PartNo. Name " | Mall _|Qty
< - =~ | 1 [Vavebody o |1
2. 2 Spindle Brass | 1
19 3 Gland bush Brass.| 1
y 8 4 |Gland Brass | 1
1 s 5 Vslve Brass | 1
T{fﬁ @ 6 | Valve stop Brass | 1
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Que 7:- ~ (a) Draw neat and proportionate free hand sketches in two views of any three
of the following :- e
I.  Fast and Loose Pulley :
i) Sectional Front View 03
ii) Side View 02
II.  Knuckle Joint :
i) Sectional Front View 03
ii) Top View 02
III.  Universal Coupling :
i) Sectional Front View 03
ii) Left Hand Side View 02
IV.  Union Joint :
i) Sectional Front View 03
ii) Side View 02
(b) Explain meaning of @50 H,/s¢ value of tolerance are : 05
+25um +59um
H7 S6
00pm +43pum

Indicate type of fit. Draw with neat sketch.
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